



St. Louis County, Minnesota

Date of Report: 5/7/2025 10:21:40 AM

General Details

 Parcel ID:
 235-0010-01000

 Document:
 Abstract - 01172614

Document Date: 10/20/2011

Legal Description Details

Plat Name: BALKAN

Section Township Range Lot Block

6 58 20

Description: LOT 7

Taxpayer Details

Taxpayer Name ARGIR JOSEPH R & LYNETTE I

and Address: 11893 HAISKANEN RD

CHISHOLM MN 55719-8247

Owner Details

Owner Name ARGIR JOSEPH R
Owner Name ARGIR LYNETTE I

Payable 2025 Tax Summary

2025 - Net Tax \$6,329.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$6,414.00

Current Tax Due (as of 5/6/2025)

| Due May 15 | | Due October 15 | | Total Due | | |
|--------------------------|------------|--------------------------|------------|-------------------------|------------|--|
| 2025 - 1st Half Tax | \$3,207.00 | 2025 - 2nd Half Tax | \$3,207.00 | 2025 - 1st Half Tax Due | \$3,207.00 | |
| 2025 - 1st Half Tax Paid | \$0.00 | 2025 - 2nd Half Tax Paid | \$0.00 | 2025 - 2nd Half Tax Due | \$3,207.00 | |
| 2025 - 1st Half Due | \$3,207.00 | 2025 - 2nd Half Due | \$3,207.00 | 2025 - Total Due | \$6,414.00 | |

Parcel Details

Property Address: 11893 HAISKANEN RD, CHISHOLM MN

School District: 695
Tax Increment District: -

Property/Homesteader: ARGIR, JOSEPH & LYNETTE

| Assessment Details (2025 Payable 2026) | | | | | | | | |
|--|--|-------------|-------------|--------------|-----------------|-----------------|---------------------|--|
| Class Code (Legend) | Homestead Status | Land EMV | Bldg EMV | Total EMV | Def Land EMV | Def Bldg EMV | Net Tax Capacity | |
| 203 | 1 - Owner Homestead (100.00% total) | \$31,700 | \$452,300 | \$484,000 | \$0 | \$0 | - | |
| 111 | 0 - Non Homestead | \$17,400 | \$0 | \$17,400 | \$0 | \$0 | - | |
| | Total: | \$49,100 | \$452,300 | \$501,400 | \$0 | \$0 | 4984 | |





St. Louis County, Minnesota

Date of Report: 5/7/2025 10:21:40 AM

Land Details

Deeded Acres: 39.70 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

M - MOUND Sewer Code & Desc:

Lot Width: 0.00

| 0.00 | | | | | | | | | |
|------------------------------------|--|---|--|---|----------------------------------|--|--|--|--|
| ot guaranteed to be surv | ey quality. | Additional lot | information can be | e found at | w@atlauiaaauatuma aau | | | | |
| | | | | | | | | | |
| Year Built | • | , | | Style Code & Desc. | | | | | |
| 2015 | 2,0 | 000 | 2,000 | - | RAM - RAMBL/RNCH | | | | |
| Story | Width | Length | Area | Foundation | | | | | |
| 1 | 40 | 24 | 960 | - | | | | | |
| 1 | 40 | 26 | 1,040 | - | | | | | |
| 0 | 8 | 50 | 400 | FLOATING S | SLAB | | | | |
| Bedroom Count | | Room C | Count | Fireplace Count | HVAC | | | | |
| 3 BEDROOMS | | - | | - C8 | AC&EXCH, ELECTRIC | | | | |
| Improvement 2 Details (NEW AG) | | | | | | | | | |
| Year Built | Main Floor Ft ² Gross Area Ft ² | | Basement Finish | Style Code & Desc. | | | | | |
| 2015 | 89 | 96 | 896 | - | ATTACHED | | | | |
| Story | Width | Length | Area | Foundation | | | | | |
| 0 | 32 | 28 | 896 | - | | | | | |
| lm | provem | ent 3 Deta | ils (DET GARA | AGE) | | | | | |
| Year Built | Main Fl | loor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| 1989 | 780 780 | | 780 | - DETACHED | | | | | |
| Story | Width | Length | Area | Foundation | | | | | |
| 1 | 26 | 30 | 780 | FLOATING SLAB | | | | | |
| | Improv | /ement 4 [| Details (BARN) |) | | | | | |
| Year Built | Main Fl | loor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| 0 | 1,2 | 296 | 2,268 | - | - | | | | |
| Story | Width | Length | Area | Foundation | on | | | | |
| 1.7 | 24 | 54 | 1,296 | FOUNDATI | ON | | | | |
| Improvement 5 Details (CHKN COOPS) | | | | | | | | | |
| Year Built | Main Fl | loor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| 2016 | 18 | 84 | 184 | - | - | | | | |
| Story | Width | Length | Area | Foundation | | | | | |
| 0 | 8 | 8 | 64 | POST ON GR | OUND | | | | |
| 0 | 12 | 10 | 120 | POST ON GROUND | | | | | |
| | ot guaranteed to be surv gov/webPlatsIframe/frmf Year Built 2015 Story 1 1 0 Bedroom Count 3 BEDROOMS Year Built 2015 Story 0 Im Year Built 1989 Story 1 Year Built 0 Story 1 Im Year Built 0 Story 1.7 Imp Year Built 2016 Story 0 | Improve Story Width 1 2015 88 | ot guaranteed to be survey quality. Additional lot gov/webPlatsIframe/frmPlatStatPopUp.aspx. If t Improvement 1 De Year Built Main Floor Ft 2 2015 2,000 Story Width Length 1 40 24 1 40 26 0 8 50 Bedroom Count Room Count 3 BEDROOMS - Improvement 2 De Year Built Main Floor Ft 2 2015 896 Story Width Length 0 32 28 Improvement 3 Deta Year Built Main Floor Ft 2 1989 780 Story Width Length 1 26 30 Improvement 4 If Year Built Main Floor Ft 2 30 1,296 Story Width Length 1 26 30 Improvement 4 If Year Built Main Floor Ft 2 30 1,296 Story Width Length 1 24 54 Improvement 5 Deta 184 Year Built Main Floor Ft 2 2016 184 Story Width Length 1.7 24 54 | Improvement 2 Details (NEW Additional lot information can be gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any quest | Improvement 2 Details NEW AG | | | | |





St. Louis County, Minnesota

Date of Report: 5/7/2025 10:21:40 AM

| | | lm m m m m m m m | ant C Dataila (I | IEW CHED) | | | | | |
|---|---------------------------------|------------------------|---|----------------|----------------------------------|--------------------|---------------------|--|--|
| Improvement Tv | no Voor Built | | nent 6 Details (I | • | sement Finish | Style (| odo 8 Dosc | | |
| Improvement Type Year Built STORAGE BUILDING 2022 | | | Main Floor Ft ² Gross Area Ft ² 192 192 | | sement Finish Style Code & Desc. | | | | |
| Segment Story | | | | | Foundation | | | | |
| BAS 1 | | 12 | <u> </u> | | POST ON (| | | | |
| OPX | (1 | 12 | 4 48 | | POST ON (| | | | |
| | | Improve | ment 7 Details | (NEW PR) | | | | | |
| Improvement Ty | pe Year Built | • | | • | sement Finish | Style C | code & Desc. | | |
| POLE BUILDING 2022 | | 1,6 | 1,600 1,600 | | | | | | |
| Segme | ent Stor | ry Width | <u> </u> | | Found | ation | | | |
| BAS 1 | | 40 | 40 1,600 | | POST ON GROUND | | | | |
| OPX | OPX 1 | | 14 | 84 | POST ON GROUND | | | | |
| | | Sales Reported | to the St. Loui | s County Audit | or | | | | |
| Sa | ale Date | | Purchase Price CRV Number | | | | | | |
| 1 | 0/2011 | \$89,900 (T | \$89,900 (This is part of a multi parcel sale.) | | | 195207 | | | |
| | | A | ssessment His | ory | | | | | |
| | Class | | | | Def Def | | | | |
| Year | Code (<mark>Legend</mark>) | Land EMV | Bldg EMV | Total EMV | Land EMV | Bldg EMV | Net Tax Capacity | | |
| 2024 Payable 2025 | 203 | \$31,700 | \$452,300 | \$484,000 | \$0 | \$0 | - | | |
| | 111 | \$17,400 | \$0 | \$17,400 | \$0 | \$0 | - | | |
| | Total | \$49,100 | \$452,300 | \$501,400 | \$0 | \$0 | 4,984.00 | | |
| | 203 | \$31,700 | \$414,100 | \$445,800 | \$0 | \$0 | - | | |
| 2023 Payable 2024 | 111 | \$17,400 | \$0 | \$17,400 | \$0 | \$0 | - | | |
| , | Total | \$49,100 | \$414,100 | \$463,200 | \$0 | \$0 | 4,632.00 | | |
| | 203 | \$28,600 | \$312,300 | \$340,900 | \$0 | \$0 | - | | |
| 2022 Payable 2023 | 111 | \$14,500 | \$0 | \$14,500 | \$0 | \$0 | - | | |
| , | Total | \$43,100 | \$312,300 | \$355,400 | \$0 | \$0 | 3,488.00 | | |
| | 203 | \$26,500 | \$246,500 | \$273,000 | \$0 | \$0 | - | | |
| 2021 Payable 2022 | 111 | \$12,500 | \$0 | \$12,500 | \$0 | \$0 | - | | |
| , i | Tota | \$39,000 | \$246,500 | \$285,500 | \$0 | \$0 | 2,728.00 | | |
| | | | Γax Detail Histo | ory | | | | | |
| | | | Total Tax & | | | | | | |
| Tax Year Tax As | | Special Assessments | cial Special | | Taxable Bui | | ıl Taxable MV | | |
| 2024 | \$5,525.00 | \$85.00 | \$5,610.00 | \$49,100 | \$414,10 | | \$463,200 | | |
| 2023 | \$5,089.00 | \$85.00 | \$5,174.00 | \$42,550 | | | \$348,841 | | |
| 2022 | \$3,241.00 | \$85.00 | \$3,326.00 | \$37,770 | | \$235,060 \$272,83 | | | |





St. Louis County, Minnesota

Date of Report: 5/7/2025 10:21:40 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.